
 
 

Cód. Material  Descrição Material  Unidade   Estoque  

4042990  JOELHO 45' PVC ROSC 1" BR TIGRE 20091930  ARARAQUARA  1 

6036574  PARAFUSO CHATA FENDA A316 3/8X2.1/2" 16F  ARARAQUARA  125 

6035659  PARAFUSO SXT B7 7/8X2.1/2" UNC  ARARAQUARA  65 

6009970  ZZPARAFUSO SXT GR2 1.1/8X4.1/2" UNC  ARARAQUARA  92 

6036614  PARAFUSO SXT GR2 3/32X1" UNC  ARARAQUARA  37 

6036554  PARAFUSO CAB CHATA FENDA 3/4X2.1/2" 10FF  ARARAQUARA  40 

6036607  PARAFUSO SXT GR5 7/16X2.1/2" UNF  ARARAQUARA  94 

6036639  PORCA SXT CAS GR2 9/16" UNF  ARARAQUARA  12 

6036703  ZZPORCA SXT GR5 1.3/4" UNC  ARARAQUARA  6 

6036723  PORCA SX A316 1/4" WW  ARARAQUARA  20 

6009195  PARAFUSO CIL CM SAE 1045 GR 5 7/16X7"  ARARAQUARA  14 

6036511  PARAFUSO CIL ALL CL5.8 3/4X2.1/4"  ARARAQUARA  13 

6036721  PARAFUSO SXT B8M 5/16X2" BSW  ARARAQUARA  20 

6036558  PARAFUSO CIL FEN GRB 1/8X1"  ARARAQUARA  82 

6011767  PORCA TUBO 5/16  ARARAQUARA  70 

6011871  PRISIONEIRO ACP 7/16X2.1/2 UNC  ARARAQUARA  13 

6036734  ZZPORCA SXT ATTR GR2 7/8" UNC  ARARAQUARA  5 

6036619  ZZPARAFUSO SXT GR2 5/16X2.1/2" UNC  ARARAQUARA  56 

6036605  ZZPARAFUSO SXT GR5 7/16X1.1/2" UNF  ARARAQUARA  12 

6036606  PARAFUSO SXT GR5 7/16X2" UNF  ARARAQUARA  38 

6036566  PARAFUSO SXT B8M 3/8X2.1/4" UNC  ARARAQUARA  5 

4067637  ARRUELA NETZSCH 516078  ARARAQUARA  1 

6036553  PARAFUSO CAB CHATA ESC FENDA 1/8X3/4"  ARARAQUARA  80 

6021422  PARAFUSO SXT GR2 7/8X2.3/4" UNC  ARARAQUARA  45 

6036559  PARAFUSO CAB RED FENDA 4X10  ARARAQUARA  14 

6009436  ZZPARAFUSO RED FEN A1020 3/16X1"  ARARAQUARA  2 

6036576  ZZPARAFUSO SXT GR5 3/8X1.1/4" UNC  ARARAQUARA  1 

4083904  DIAFRAGMA EXT CHICAGO 10313002051260LW  ARARAQUARA  1 

4083906  DIAFRAGMA INT CHICAGO 10313002071260LW  ARARAQUARA  1 

4083731  ANEL VED TUBO ALUM AP 6"" RAESA"  ARARAQUARA  12 

4083761  BITS RED ACO RAP 1/2X6"" 12%CO"  ARARAQUARA  5 

4083760  BITS QUAD ACO RAP 5/16X4"" 12%CO"  ARARAQUARA  2 

4083726  ANEL RET EIXO 42MM SEEGER 501  ARARAQUARA  13 

6036318  ARRUELA ALUM 5/32"""  ARARAQUARA  186 

6036320  ARRUELA COBRE 8MM  ARARAQUARA  5 

6036326  ARRUELA PRESSAO NORM A1070 3/4" POL  ARARAQUARA  2 

4084056  GAXETA 5/16"" QUADRADA SOTEQUI 4500"  ARARAQUARA  2 

6012060  REBITE STU CHAT LT/ASTMB36 4,7MM 9,52MM  ARARAQUARA  866 

6030055  PARAFUSO NETZSCH 880306  ARARAQUARA  36 

 


